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1. Atwo-factor research study is used to evaluate the effectiveness (% %R ) of a new blood-pressure
medication (4 & # ). In this two-factor study, Factor A is medication (F} #&) versus no
medication (& F§ # ) and factor B is male versus female. The medicine is expected to reduce blood
pressure for both males and females, but it is expected to have a much greater effect for males.
What pattern of results should be obtained if the medication works as predicted?

A.  Asignificant main effect for factor A.

B. A significant interaction.

C. Asignificant main effect for factor A and a significant interaction.

D.  Answer cannot be determined from the information provided. FRA KL » JiETE -

2.  Ahypothesis test ({#%# &) involves a comparison of which two elements?
Research results from a sample and a hypothesis about a population
Research results from a population and a hypothesis about a sample =~
Research results from a population and a hypothesis about the population
Research results from a sample and a hypothesis about the sample

Answer cannot be determined from the information provided

m o oW P

3. If atreatment has a very small effect, what is a likely outcome for a hypothesis test evaluating the
treatment?

A Type I error

A Type II error

Correctly reject the null hypothesis

Correctly fail to reject the null hypothesis

Answer cannot be determined from the information provided

Mo

4, Which of the following is an accurate description (& &4 i) regarding the power of a

statistical test (#L3t#xE H)?
The power of a statistical test will increase if a changes from .05 to .01
The power of a statistical test is the probability of supporting true null hypothesis
The power of a statistical test will increase if the sample size changes from =25 to n= 100
The power of a statistical test is the probability of rejecting true null hypothesis '
Answer cannot be determined from the information provided

ISR ES

5. Which of the following is the most accurate description of the sampling distribution (3 4% %-%¢)?
The distribution of the values of a variable for all individuals in the sample

The distribution of the values of a variable for all individuals in the population

The distribution of the values of the statistic for some samples, with the same size, selected from
the population

The distribution of the values of the statistic for ail possible samples, with the same size,
selected from the population ,

Answer cannot be determined from the information provided

m O ows
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6. Atwo sample z-test for the difference in population means is conducted. If the null hypothesis Ho:

H = M1 is true, which of the following is the most accurate description?
A. The mean of the sampling distribution is set to zero

B.  The statistic for test is :c_1 —;:;
. .
C. The standard error of the sampling distribution is | — — —%
non

D. Both A and B are correct
E Both B and C are correct

7-9. A survey of 134 cell phone users yielded the data found in the table below. The table- compares
gender and the type of phone. Using the table below and answer questions 7-9.

iPhone Non-iPhone
Male 57 23
Female | 36 18

7. If 3 customers are independently selected based on this survey information what is the probability
that none of the 3 have iPhone? (Round your answer to 3 decimal places)

A, 0.029
B. 0611
C. 0518
D. 0971

E. None of A-D is correct.

8. If a customer is selected based on this survey data, what is the probability that the customer is
female or does not use an iPhone?

A, 0.134

B. 0.709

C. 0.828

D. 0.575

E. Answer cannot be determined from the information provided

9. The event of having an iPhone (Event A) is independent of gender (ex. Event B=being male).

A.  True : '

B. False

C. Answer cannot be determined from the information provided

10. Consider a fair coin tossing experiment. If we toss a coin three times, how many times do we expect
it to come up heads? What is the variance of this distribution?

A. 15,125
B. 15075
C. 25,125
D. 25,075

E. None of A-D is correct.

11. Inthe ANOVA test, if the null hypothesis is false, the means of the different samples should be
and the standard deviations of the different samples should be

A. similarinvalue .................. large in value

B. cloSEtOZero .oo.ocevvvunnnrennennt equal to their respective variances
C. very different in value ........... lower in value then the means

D. very different in value............ relatively low in value

E. Answer cannot be determined from the information provided
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12. There is no linear relationship between two interval-ratio variables when the regression line on a
scatterplot

A. s parallel to the horizontal axis ($L7k F #F47)
B.  does not touch all of the scores

C.  is not an equal distance from all of the scores

D.  isbimodal (44)
E. None of A-D is true

13. The partial correlation coefficient between X and Y after controlling for Z shows a much weaker
relationship than the Pearson's r computed for X and Y. This would be taken as evidence of a(n)
relationship between X and Y.

A, direct

B.  Spurious (i 4#) orintervening (%)
C.  Interactive ( 5.%)

D. Positive

E. None of A-D is true

14. In order for a least squares regression line to provide the most accurate predictions of the average
value of the dependent variable y for a given value of x, which of the following results is considered
to be desirable based on the data?

A.  Anunexpectedly large value for the standard deviation of the residuals
B. . A value of 2 no larger than 0.50

C. A scatterplot of x and y values that shows a high degree of correlation between the variables

- - D. - Aplot of the residuals versusthe x=values that shows an unexpectedly large amount of variation

in the residuals
E. None of A-D is true

15-17. The marketing department of a large chain of automobile tire retail stores (LERBTENR
J&) would like to pursue consumers interested in all-terrain tires. They wish to investigate the extent
to which the amount of money spent on TV advertising (ADV) on Sundays is related to the sales
revenue (i 3, REV) for the week from this type of tire. They begin by selecting a random sample

'of 41 stores in various cities, and then determine the sample linear regression model based on the
collected data. The following is the output from regression analysis:

Regression Analysis:  R?=(.862 n=41

=0.929

Standard deviation of the residual=915.247 Dep. Var.= REV
Regression Qutput:
Variables Coefficients | Std. Error | {(df=39) | p-value

Intercept 15,531.3086 | 573.7946 | 27.068 | .000
ADV 5.4728 0.3503 15.625 | 000

With the information given above, please answer questions 15-17 based on testing the hypothesis
Ho:$,=0 at a level of significance of a=.05. '

15. Which of the following is NOT a condition needed in order to perform this test for slope?
A.  XandY are associated linearly.

The errors are evidently independent.

The residuals are nearly normal.

The variances of the residuals are linear.
All of A-D are necessary conditions.
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16.

17.

18.

19.

20.

Does the result suggest that the model explains statistically variation in revenue?

A.  The p-value is large and therefore reject Ho - the model is statisticatly significant.

B.  The p-value is large and therefore do not reject Ho — the model is not statistically significant.
C.  The p-value is small and therefore reject Ho — the model is statistically significant.
D
E

The p-value is small and therefore do not reject Ho — the model is not statistically significant.
Answer cannot be determined from the information provided

Determine a 95% confidence interval for the slope 8,

5.4728 + (2.02) °jj_;’3
5.4728 + (2.02)(0.3503)
0.3503
5.4728 + (1.96) =
5.4728 + (1.96)0.3503

None of A-D is true.

¢ Mo aowp

nder what circumstances can a very small treatment effect be statistically significant?
If the sample size big and the sample variance is small.
If the sample size and the sample variance are both big,
If the sample size is small and the sample variance is big.

If the sample size and the sample variance are both small.
None of A-D is true.

S mpowy

nder what circumstances will the distribution of sample means be normal?
It is always normal. _

Only if the population distribution is normal,

Only if the sample size is large enough (i.e. n is greater than 30)

If the population is normal or if the sample size is large enough, say, greater than 30.
None of A-D is true,

moowp

20-21Every week a grocery store orders 5 cases of fresh oranges. Sometimes the cases have been
damaged during transport. The following table includes a count of the number of damaged cases out
of 5 for the 52 weeks in the year. The manager of the store proposes that the number of cases that

are damaged out of the 5 each week follows a Binomial distribution. Please answer questions 20
and 21. :

# of damages | # of cases
0 31

1 12

2 5

3 1

4 1

5 2

Find the Binomial parameter p needed to compute the expected counts.

A 015
B. 0.60
C. 040
D. 017
E None of A-D is true.
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21.

22,

23.

24.

25.

= ,.

Find the estimated probability that 2 of the 5 cases are damaged

A. 0.0089
B. 0.9734
C. 03110
D. 0.1382
E. None of A-D is true.

22-23 A manufacturer of fitness equipment ({& % 5 4 &9 3 1% # Dinspects (4% )a random sample
of the welds (3 4%/ 12 4 &) that are performed on various pieces of equipment in an effort to
monitor the quality and strength of the equipment (32 & % & # %) & ¥ ). During one week, a
random sample of 200 welds showed that 15 of the welds were defective( & #: /s &) ). Please
answer questions 22 to 23.

Which of the following represents a 98% confidence interval for the population proportion of
defective welds?

A (.056,.094)
B. (.032,.118)
C. (072,.078)
D.  (.037,.112)
E. (.064,.086)

The production manager states that he has computed a 95% confidence interval for the population

- proportion-of defective welds, and that “the margin of error. (#% % $& M) is .035.” Which of the

following is an appropriate interpretation for the margin of error in this case?

- A.  He is 95% confident that the population proportion is .035.

The sample proportion he computed is within .035 of the population proportion
He is 95% confident that the population proportion is between 0 and .07.

B

C.

D. Heis 95% confident that the population proportion is within .035 of the sample proportion
he computed.

E,

The population proportion cannot differ from the sample proportion by more than .035 in
either direction.

Confidence intervals are preferred to significance tests because they

A. do not require a random sample
B. provide more information

C.  describe sample variability

D. assess importance

E, All of the above

Sampling error occurs because

The investigator choose the wrong sample (3§ 1% 4% i%)

Of the operation of chance (& # 4 &)

Of a calculation error in obtaining the sample mean(# 4 34 2 5t K 54 %)
The measuring devices is flawed (] ¥ T & # B5L)

All of the above (51 L % &)

HOOowp
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Laws against marriage

Religious preference Favor (% &) Oppose (K #}) Total
Fundamentalist (B # § £ £ %) 39 142 181
Moderate (8 Fo %) 21 248 269
Liberal (& & £ % %) 17 236 253
None (#& 730 16 74 90
Total 93 700 793

1) %P Fundamentalist % a% 3Lk 4% 5b ¥ & #% 8 % o015 H(odds) 57 (2 &)
2) K] Fundamentalist ¢ Liberal % A% 3L 3% % b B & #6352 18 48 69 B 3 1L (odds ratio) 23 47)

3) FEARTHRURETERTRAMENATAIGERERATAMIF R L AR RS L
Bk~ s ERAE - SRR - (109)

2. (3t 10 %) T Ak A (female 1 A-ichd; 0 & B 8) « a5 R84 #h(QuizAvg) + MR T
& K S (Midterm) R IR A — B 4 G 3 R KA o R AT AT 89 OLS @ 5 &R - Bk
oM R GEMM -

Source 83 df MS Number of obs = 50
F(3, 46) = 11.70

Model 3111.52785 3 1037.17595 Prob > F = 0.0000
Residual 407%.19215 46 BB.6780903 R-squared = 0.4327
Adj R~squared = 0.3957

Total 7190.72 49 146.749388 Root MSE = 9.4169
final Coef, Std. Err. t B>it| [95% Conf. Interval]
female 6.264099 2.7%0421 2.24 0.030 . 6472737 11.88092
Quizhvg .6764418 .1576337 4.29 0.000 .3591416 . 993742
Midterm -.0317909 .185193 -0.17 0.864 -.4045651 .3409832
_cons 17.86207 14.5137 1.23 0.225 -~11.35249 47.07663

) HRRRHKSAKARFBMZANBAGERAKMER L IS%LEHMER - (4 &)

2)  H{RA 2 R-squared=0.4327 % & Prob>F=0.0000 & & &2 %) -

3) HMBRPADEABOMERC En)RARBEL? RS > AT EF—BAR
REBBITF - 2 %)

4) MSE=88.678090 - j% X BAR 4% AT AT 69 B 1E A & F &) Root MSE - 3 B Root MSE=9.4169
REERER2Q24)
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Standard Normal Distribution (Z table)
AreaUnderthe
Normal Curve
z .00 .01 .02 .03 .04 .05 .06 .07 .08 .09
0.0 a0 0040 0080 0120 D150 0198 239 025 0319 358
0.1 L1398 D438 0478 L8317 0857 L0506 4628 0675 L7114 0753
0.2 0783 J832 0871 - M0 e L1867 0% 1064 d108 Jia
0.3 L4109 217 1255 1283 133t 4388 J408 1443 1480 1517
0.4 J5064 1581 1628 JE64 J70 1736 Q72 0 ]8e8 L1844 JBH
45 _ _.1915. L4850 1885 209 205% 20BB 223 2187 A8y gnd
08 st 221 234 2357 2339 2422 2454 2488 2517 249
0.7 L2580 251 2642 2573 2108 2134 2784 275 251 2852
08 2881 2810 12999 28657 2055 3023 051 2018 3108 2133
0.4 3159 186 3212 3238 3264 3289 3315 3340 3365 3303
1.0 G413 248 3451 3485 3508 i 554 a577 A5 3621
1.1 3643 2580 SBA6 3708 3728 3749 J770 i) e 3810 3830
1.2 3849 B58 LSBAg 3807 S225 35344 3082 3980 g A015
1.3 A032 A9 A066 Ala2 4053 Al18 4131 4147 Al62 ANF7
14 4192 AX7 A2 4236 4251 A5 4278 4292 A6 A8
1.5 4332 A345 A357 A370 4382 A384 A466 A418 A429 A441
18 A452 A463 A474 AdB4 4495 A505 A513 A525 A58 4545
1.7 4554 AS64 4573 4582 ASSE 4588 4608 ABIS A5 4833
138 4641, Ab43 JA656 AfGd B 4579 AbS 4653 AB99 A6
L8 A713 4719 476 4732 4738 4744 A750 406 ATEl 4767
24 ATT2 A ‘ 4703 A788 A793 4798 ABB 4808 A82 A7
2.1 AHEY ARG 4830 A834 A8 4842 A846 . 4850 ABS4 4857
2.2 ABE1 ABB4 4868 A8H AB75 AR78 a8t "4084 4887 4890
24 4893 485 4688 4901 A904 A906 Ag0 Aglt 4513 4816
24 4918 4920 4920 A925 - 4827 4828 A931 A332 A 4936
2.5 4938 4540 A941 4843 445 45846 4848 A%48 4951 4952
26 4953 4855 4956 AT5? 4959 496D . 4961 4952 4953 4964
27 4965 4956 967 A58 L4969 4870 Ae71 A512 A9 4974
z8 A974 A97h 4976 4577 A9 4978 4979 A979 4880 4981
pA 4981 A082 A882 A0H3 4984 4984 4885 4585 4986 4988
30 4987 Aa87 A987 A0E8 A58 4889 4589 4085 45390 499D
Soures: Absidged kom Totde { of Stotsiion] fables and Farmtdas, by K. Hold (lew Sork: iohn Wilsy & Sons, Ine., [452), Feproduced by pecaission of A, Hald
ond fhe publahecs, ohn Wiey & Sens, Inc,
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Upper critical values of Student’s T-Distribution
0 .
Tail Area o Tail Area o

af| 10 05 | .025 o1 | .005 aft | .10 o5 | 05 | ot | o005
1| 30777 | 83138 | 12708 | 31.821 | 63.067 51 | 1.2084 | 16753 | 20078 | 2.4017 | 26757
2 | 18856 | 20200 | 43027 | 6.9648 | 0.9248 52 | 1.2080 | 1.6747 | 20008 | 24002 | 2.6737
3| 16377 | 23534 | 3.1804 | 45407 | 5.8400 53 | 12077 | 16741 | 20057 | 2.3068 | 2.6718
4| 15332 | 21318 | 27764 | 37460 | 4.6041 54 | 12074 | 16738 | 20040 | 23674 | 2.6700
5| 1475 | 20150 | 25708 | 3.3649 | 4.0321 85 | 1.2071 | 1.6730 | 20040 | 2.3061 | 20082
¢ | 14308 | 19432 | 24460 | 31427 | 37074 56 | 1.2000 | 1.6725 | 20032 | 2.3048 | 20065
7| 14149 | 1.8046 | 23846 | 20080 | 3.4905 57| 12006 | 1.6720 | 20025 | 2.2008 | 2.0649
8 | 12088 | 18505 | 2.3080 | 2.8065 | 3.3554 58 | 1.2063 | 10718 | 20017 | 2.3024 | 2.0833
9 | 13830 | 18331 | 22022 | 2.8214 | 3.2408 59 | 12081 | 16711 | 20010 | 23012 | 26618
10 | 13722 | 18125 | 22281 | 27638 | 31693 60 | 1.2058 | 16708 | 20003 | 23001 | 20003
11| 1.3634 | 1.7050 | 22010 | 27181 | 3.1058 61 | 12056 | 16702 | 1.0008 | 23500 | 20580
12 | 13562 | 17823 | 21788 | 26910 | 30545 62 | 12054 | 1.0008 | 1.0000 | 2.3880 | 20575
13 ] 1.3%02 | 17700 | 21604 | 20503 | 30123 63 | 12051 | 1.6804 | 1.0083 | 23870 | 26561
14 | 13450 | 17613 | 21448 | 26245 | 20768 64 | 12040 | 10800 | 19677 | 23080 | 26540
15 | 1.3400 | 1.753t | 21314 | 20025 | 20467 65 | 1.2047 | 10886 | 10071 | 23851 | 26538
16 | 12368 | 1.7450 | 21109 | 25835 | 20208 66 | 1.2045 | 1.0083 | 1.0008 | 23842 | 20524
17§ 1.3334 | 17308 | 21008 | 25060 | 2.8082 67 | 12043 | 1.6670 | 1.0000 | 23833 | 26512
18 | 1.3304 | 17341 | 21000 | 25524 | 28784 68 | 1.2041 | o678 | 1.0085 | 23824 | 2.6501
19 | 13277 | 17201 | 2.0030 | 25305 | 28000 69 | 12030 | 10872 | 1.0040 | 238168 | 28400
20 | 13283 | 1.7247 | 20860 | 25280 | 28453 70 | 1.2038 | 1.0000 | 10044 | 23008 | 26470
21 | 13232 | 17207 | 20706 | 25178 | 28314 71| 12036 | 1o80s | 1.0030 | 23000 | 26480
22 | 13212 | 17171 | 20739 | 25083 | 28188 72 | 12034 | 10663 | 19035 | 23703 | 2645
23 | 1.3195 | 1.7130 | 20887 | 24000 | 28073 73| 12033 | 10800 | 1.0030 | 2.3785 | 26440
24 | 13178 | 17100 | 20830 | 24922 | 27080 741 12031 | 10057 | 10005 | 23778 | 26430
25 | 13163 | 1.7081 | 20505 | 24851 | 27874 75 | 12020 | 10854 | 190021 | 23771 | 26430
26 | 1.3150 | 17056 | 20585 | 2.4786 | 27787 76 | 12028 | 10652 | 1.9017 | 23784 | 26421
27 | 13137 | 17033 | 20518 | 24727 | 27707 77§ 12026 | 10840 | 10013 | 23758 | 26412
28 | 1.3125 | 1.7011 | 20484 | 24671 | 27623 78 | 12026 | 10040 | 1.0008 | 23751 | 26408
29 | 13114 | 16001 | 2.0452 | 24620 | 27504 79| 12024 | 10644 | 19008 | 23745 | 26305
30 | 12104 | 1.6073 | 20423 | 24573 | 27500 80 | 12022 | 10041 | 1.0001 | 23730 | 26387
31 | 13005 | 1.6055 | 2.0305 | 24528 | 27440 st | 12021 | 10830 | 19807 | 23723 | 20370
32 | 13000 | 10039 | 2.0300 | 24487 | 27385 82 | 12020 | 1.0630 | 10693 | 23727 | 26371
33 | 13077 | 1.6024 | 20345 | 24448 | 27333 &3 | 12018 | 10634 | 10800 | 23721 | 2.6364
34 | 13070 | 10000 | 20322 | 24411 | 27284 84 | 12017 | 18632 | 19886 | 23716 | 26358
35 | 13062 | 1.6208 | 2.0301 | 24377 | 27238 85 | 12016 | 1.0630 | 10883 | 23710 | 2.6340
36 | 13055 | 1.6883 | 20281 | 24245 | 27195 86 | 12015 | 10628 | 10870 | 23705 | 26342
37 | 13040 | 16871 | 20262 | 24314 | 27154 87 | 12014 | 10628 | 1.0876 | 23700 | 26338
38 | 1.3042 | 1.8800 | 2.0244 | 24288 | 27118 88 | 12012 | 10824 | 10873 | 23005 | 2:6320
39 | 13000 | res40 | 2.0227 | 24258 | 27070 89 | 12011 | ve622 | 1.0670 | 23600 | 26322
40 | 13081 | 16839 | 2.0211 | 2.4233 | 27045 90 | 12010 | 10020 | 19867 | 23085 | 26318
&1 | 12006 | 16820 | 2.0105 | 24208 | 27012 91 | 12000 | 10018 | 1.006¢ | 23660 | 28300
&2 | 13020 | 16820 | 20181 | 24185 | 26081 92 | 12008 | 10016 | 19881 | 23678 | 26303
a3 | 13018 | 16811 | 20167 | 24163 | 26051 a3 | 12007 | 10614 | 19858 | 23671 | 26297
ae | 13011 | 16802 | 20154 | 24141 | 20023 94 | 12006 | 10812 | 1.0855 | 23067 | 2.6201
45 | 13006 | 16704 | 20141 | 24121 | 26806 95| 12005 | 10611 | 10863 | 23062 | 2.6206
46 | 13002 | 16787 | 20120 | 24102 | 26870 96 | 1.2004 | 1.0000 | 1.06%0 | 23068 | 26200
47 | 12008 | 16770 | 20117 | 24083 | 2.6846 97 | 1.2000 | 10007 | 1.9847 | 23054 | 28275
48 | 12004 | 16772 | 20106 | 24006 | 2.6822 98 | 12002 | 10006 | 19645 | 2.3650 | 2.6260
43 | 12001 | 16706 | 20006 | 24049 | 26800 99 | 12002 | 1.0004 | 1.0842 | 2.3040 | 26204
50 | 12067 | 1.6750 | 20086 | 24033 | 26778 100 | 12001 | 1.0002 | 19840 | 23642 | 26260

w| 12816 | 10440 | 1.0000 | 23263 | 25756
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Upper Critical Values of the Chi-Square Distribution

D

o Z 1-a
Yail Area 1-» Tail Area =
oF 935 5% TS 95 50 of A0 03 o2s 0 005
4 0.000 6.000 6.001 0.004 0016 4 2.708 3841 5024 $.635 7.879
2 0.010 0.020 G.051 0.103 0211 2 4.805 5.001 7378 2.210 | 10.507
3 0.072 G115 0218 0.352 0.584 3 8.251 7.815 90348 | 11.345 | 12.838
4 0.207 0207 0.484 0.711 1.004 4 7.770 0488 | 11.143 | 13.277 | 14.68D
5 0412 0.554 0.831 1.145 1.610 5 8238 | 11.070 ] 12833 | 15.0858 | 10.750
6 0.678 0872 1.237 1.835 2204 €] 10645 | 12502 1 14440 | 180812 | 18548
7 0.080 1230 1.600 2.167 2833 T 1 12017 | 14087 | 16013 | 18475 | 20.278
- 8 1.344 1.048 2.180 273 3.490 8§ 13382 | 15507 | 17535 |1 20.000 | 21.055
9 1.73% 2.088 2.700 3325 4108 9| 14.084 | 16610 | 10.023 | 21.686 | 23.580
10 | 2.158 2.558 3247 3.040 4805 10 | 15087 | 18307 | 20483 | 23209 | 26.1808
11 2 803 3053 3.816 4575 5578 11 | 17.275 | 10675 | 21020 | 24.725 | 28.757
12 3.074 3571 4. 404 5.226 8.304 12 | 18.540 | 21026 | 23.337 | 26.217 | 28.300
13 3.5065 4107 5.000 5802 7.042 13 | 190812 | 22382 | 24730 | 27.688 | 20819
14 4075 4.600 5.620 6.571 7.700 14 | 21.084 | 23685 | 26.1190 | 20.14%1 | 31.310
15 4 0601 5229 6.262 7.29% 8.547 15 | 22307 | 24008 | 27488 | 30.578 | 32.801
18] 5.142°] 5812 6908 | To42| 9312 - ~468 | 23.542 | 20208 | 28.845 | 32000 | 34267
17 X 8408 7.564 8.672 | 10.085 17 | 24760 | 27.587 | 30.101 | 33400 | 35.718
18 8.205% 7.015 8.231 9.300 | 10885 18 | 25080 | 28500 | 31520 | 34805 | 37.158
19 6.844 7.633 8007 | 10117 | 11851 198 | 27.204 | 30.144 | 32852 | 38.101 | 38.582
20 7434 8.260 9.501 10.851 12443 20 | 28412 | 31410 | 34170 | 37566 | 39007
21 8034 8807 | 10.283 | 11.501 13240 21 | 20815 | 320671 | 35470 | 38.032 | 41401
22 8643 0542 | 10982 | 12338 | 14041 22 | 30.813 | 33024 | 30781 | 40280 ] 42700
23] 0200 | 10.106 | 11,880 | 13.001 | 14648 23 | 32007 | 35172 | 38076 | 41.638 | 44.181
24 0880 | 1085 | 12401 | 13.848 | 15.650 24 | 33108 [ 38435 | 30304 | 42080 | 45.550
25 | 10.520 | 11524 | 13.120 | 14.611 | 16473 25 | 34.382 [ 37.852 | 406408 | 44.314 ] 40028
26 | 11100 | 12.108 | 13.844 | 15370 | 17202 26 | 35563 | 38.885 | 41023 | 45042 | 48200
27 | 118608 | 12879 | 14.573 | 16151 | 18.114 2T | 30741 | 40.113 | 43195 | 48063 | 40.045
28 | 12481 | 13585 | 15.308 | 16.028 | 18030 28 | 37.916 | 41337 | 44481 | 48278 | 50.003
29 | 13121 | 14256 | 16.047 | 17.708 | 10788 29 | 30.087 | 42.557 T2 52 338
30 | 13787 ] 14053 | 16.701 | 18.403 | 20500 30 | 40256 | 43773 | 46070 | 50.802 | 53.0872
3| 14458 | 15658 | 17530 | 10281 | 21434 31 | 41422 | 44085 | 48232 | 52.191 | 55003
32 | 15134 | 123062 | 18201 | 20072 | 22211 32 | 42.585 | 46.104 | 49480 | 53488 | 50.328
33 15815 |} 17073 | 10.047 | 20807 | 23.110 33 | 43745 | 47400 | 50725 | 54.770 | 57.048
34 [ 165011 17.780 | 10.808 | 21.004 | 239052 34 | 44003 51006 | 56081 | 58.084
A5 [ 17102 | 18500 | 20500 | 22405 | 24707 35 | 46.050 | 40.802 203 | 57.342 | 80.275
36 | 1TBB7 | 10233 | 21.338 | 23200 | 25.843 36 | 47.212 |} 50008 | 54437 | 58.610 | 61.581
37 18588 | 10060 | 22108 | 24.075 | 28492 37 | 48363 | 52.192 | 55080 | 50.802 | 62.883
38 | 10280 | 200801 | 22878 | 24.884 | 27.343 I8 | 40513 | 53.384 | 56805 | 61.162 | 64.181
39 [ 10000 | 21426 | 23.854 | 25005 | 28.108 39 | 50.000 | 54572 | 58.120 | 62428 | 65478
40 | 20707 | 22.184 | 24433 | 28.500 | 20.051 40 | 51805 | 55758 | 50342 | 83.601 | 00700
41 | 21421 | 22000 | 25215 | 27.320 | 20007 41 | 52040 80.501 | 64050 | 08
42 | 22138 | 23650 | 25000 | 28.144 | 30.765 42 §1 54000 | 58.124 | 61777 | 66.206 | 60.330
43 | 2850 | 24.308 | 26.785 | 28.065 | 31825 43 | 55230 | 50304 | 62000 | 87450 | 70618
44 | 23584 | 25148 | 27.575 | 20.787 | 32487 44 | 56.300 | 60481 | 64201 | 68700 | 71803
45 ] 24311 | 25001 | 28.366 | 30.612 | 33.350 45 | 57.505 | 61656 | 45410 | 60057 | 73.160
46 [ 25041 | 20657 | 201600 | 31430 | 3415 46 | 58.641 | 62830 | 600617 | 71.201 | 74.437
4T | 25.775 | 27418 | 20056 | 32.248 | 35.081 AT | 50774 | 84001 | 67821 | 72443 | 75704
A48 | 28511 | 28177 | 30755 | 33.008 | 35.040 48 | 60907 | 85171 023 | 73. 76.000
49 1 27240 | 28041 | 31.555 | 33030 | 6818 43 | 62038 | 86.330 | 70222 | 74.019 | 78.231
S8 | 27001 1 20707 | 22357 | 34.764 | 37.860 S0 ] 83.167 | 67505 | 71420 | 76.154 | 70400
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